EENG382 QUIZ #2
The exam will consist of one problem from each of the following chapters in the text: {13, 14, 15}

This quiz consists of three problems from each chapter. If you fully understand the concepts associated
with each of these problems, then you will have no difficulty with the exam.

Problems 13.(30,54,64), 14.(4,32,35), 15.(4,25,60)

The same reference material that was made available as part of Exam | will be available for Exam Il and
is attached.

The Homework Format Guidelines apply to this quiz, including penalties for failing to abide by them.

The grading on this quiz will be similar to homework grading. Three problems (one from each chapter)
will be graded in detail and points based on work shown will be used for the remainder. Each problem
will receive 1pt if it is evident that an honest attempt at working the problem has been made. Each
problem that is graded in detail will receive an additional 10pts based on quality and completeness. This
means that up to 39pts can be earned. The quiz itself is worth 20pts. Any points above 20pts will be
treated as extra credit points. Consider this a chance to offset a weak performance on Exam I.

NOTE: Any problem that is not graded in detail will not receive ANY points for effort if there is a
systematic disregard for units ANYWHERE within that problem. Any problem that is graded in detail will
receive a 20% reduction for any systematic disregard for units with an additional 20% reduction if failing
to track or check units resulted in and error that could/should have been caught.

FAIR WARNING: This is the same units policy that will be applied to the exam.
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